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Subject Name: Quantity Surveying & Valuation
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Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
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1.Enlist qualities of a Good estimator.
2. State the different types of measurement units with one example of each.

1. Give the multiplying factor for painting work for Fully Panelled door, Rolling
shutter, Partly panelled partly glazed door.
2. Write mode of measurement as per IS 1200 for Brickwork or Plasterwork.

From fig. 1 residential building find out the quantities of following items.
1. Excavation for foundation or B.B.C.C for foundation.
2. Brick masonry in CM(1:6) up to plinth
Brick masonry in CM (1:6) above plinth and skirting in all room.
OR
Inside plastering in CM(1:4) and flooring work in all rooms.

From fig. 2 Find out the quantities of following items.
C.C.(1:2:4) work OR Formwork
Reinforcement in kg
Distinguish between

1) Scrap value — Salvage value

2) Book value - Market value

OR

Findout the Reinforcement for slab from following data.
Slab size 3m x 6m , Slab thickness 12c¢m,12mm dia mainbar @ 15 cm c¢/c @
0.89kg/m along shorter span(considering all bentup on one side),6 mm
dia.distribution bar @ 20 cm c¢/c @ 0.22kg/m along longer span.
Take sidecover 50mm, top and bottom cover 15mm
1. Define valuation. State the purposes of valuation.
2. State the methods of valuation. Explain any one.

1)Define specification. State the principles of specification writing.
2)Write detailed specification for brickwork in CM(1:6)

1) Derive Rate analysis for 10cm thick brick partition wall in CM(1:4)
2) Explain S.O.R.

OR
1)Define Rate analysis. State the factors affecting Rate analysis.
2)Write Detailed specification for woodwork for doors and windows

1)Derive R.A. for R.C.C. slab (1:2:4) with 1% steel
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2)Define Task work. State the factors affecting it.

Workout the capitalized value of a theatre from following data.

Present value of land=2,15,890, Future life of property=10yrs

Total capacity efficiency of theatre= 57.54%,

4 shows/day for 365 days,

total income per show for full capacity = Rs. 6000,

Possible total outgoings 70% of gross income,

Rate of interest on capital investment is 12% and on sinking fund 8%

1)Find out the yearly installment of loan of Rs. 50,000 at rate of interest 12% is to
be repaid in 15 yrs.

2)Find out the yearly installment of sinking fund of a building costing Rs. 5 lacs

and life of building is 50 yrs. Take rate of interest on S.F. 6% and 10% scrap value.

OR

A developer has invested Rs. 100000 behind land and Rs. 300000 for building
construction. He desires 5% rate of interest on land and 12% on construction cost.
Find out the monthly rent to be charged for building with following data.
Govt.taxes 6% of net income.,
Drainage and water charges Rs.900/yr.
Maintenance and repair 1.2% of construction cost
Administration and Rent collection charges 8% of gross income.
Remaining all outgoing 12% of G.1L
Find out the quantities from fig. no.1

1) D.P.C. at plinth level

2) White glazed tiles work (flooring & dado full height)
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